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ERRATA

RULEBOOK  CLARIFICATIONS
Page 12

Once the last phase is complete, the round is over and the next round begins. This 
continues until a player has won.

should include the following sentence

If you reach a state during a scenario where neither side can win, the game ends in 
a draw.

Page 19, Which Attack Value To Use

You are attacking the target’s rear if:
•	 the target and the attacker are in different hexes and the target is facing in the 

opposite direction to the attacker, or
•	 the above statement would be true if the target was facing the hex edge 

immediately to the left or right of the one it is currently facing.

should read as follows:

You are attacking the target’s rear if:
•	 the target and the attacker are in different hexes; and
•	 the firing line you are using for your attack intersects the target on one of its 

three rear edges.

Pages 20�21, Example Turn

Trevor’s card used for initiative should be a Red Section Comms.
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Starting Cards:� Deck: D    Supply: S  
RAF LUFTWAFFE

Squadron Comms D D Squadron Comms

Y Section Comms D D Y Section Comms

R Section Comms S R Section Comms

G Section Comms D G Section Comms

P Section Comms S P Section Comms

B Section Comms D D B Section Comms

AAA D D  S
 

S
 

S Y  BF 109E
Ships D Y1 BF 109E

Y  Hurricane D
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S
 

S D  S
 

S Y2 BF 109E

Y1 Hurricane R1 BF 109E

Y2 Hurricane D  S
 

S R2 BF 109E

R1 Hurricane S
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S D  S
 

S G1 BF 110C

R2 Hurricane S
 

S
 

S D  S
 

S G2 BF 110C

G1 Defiant P1 BF 109F
G2 Defiant P2 BF 109F

P1 Spitfire S
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S D
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S B  BF 109F
P2 Spitfire S
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S D  S

 
S B2 BF 109F
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S H1 Heinkel

B2 Spitfire D  S
 

S H2 Heinkel
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S1 Stuka
S2 Stuka

D
 

D
 

S
 

S
S

 
S

 
S

 
S

Discord

SCENARIO BOOK CLARIFICATIONS
Page 26, the starting cards table for Scenario 11 should read as follows:


